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Note : (i) All the four questions are compulsory. 

(ii) All the questions carry equal weightage. 

1. Answer the following question in about 
600 words : 
Why is secondary and higher secondary 
education considered as the foundations for 
higher education ? What is the significance of 
vocationalisation of education at secondary and 
higher secondary stage ? 

OR 
What are the alternative innovative programmes/ 
projects carried out at school stage in India ? Give 
your critical comment about the success of such 
projects. 

2. Answer the following question in about 
600 words : 

What are the different policies adopted at 
National level for elementary education ? 
Critically comment on their relevance today. 

OR 

MES-015 
	

1 	 P.T.O. 



Describe learner controlled methods followed at 
school level. Discuss the relevance of student 
centred learning at school stage. 

3. Answer any four of the following questions in 
about 150 words each : 
(a) Discuss advantages of community 

involvement in elementary education. 
(b) Explain library as a resource centre for 

students learning. 
(c) Discuss the role of NAAC in higher 

education. 
(d) How can teacher enhance his/her teaching 

effectiveness. Explain briefly. 
(e) Discuss the role of teacher as a Manager of 

Instructional system. 
(f) Describe the purpose of universalisation of 

secondary education 

4. Answer the following question in about 
600 words : 
Define continuous and comprehensive 
evaluation ? What are the different areas of 
continuous and comprehensive evaluation ? 
Explain how best they can be implemented at 
secondary school level . 
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